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Z scores =  how many standard deviations above or below mean.
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Adult male heights are on average70 inches (5'10) with a standard deviation of 4 inches. 

Adult women are on average a bit shorter and less variable in height with a mean height of 65 inches (5'5) and standard deviation of 3.5 inches.
	MALES
	FEMALE

	Find the z score if the adult male is:

· 74 inches ______
· 62 inches______
· 78 inches ______
· 70 inches ______
· 75.5 inches ______
	Find the z score if the adult female is:

· 61.5 inches ______
· 72 inches______
· 65 inches ______
· 70 inches ______

	Find your score if your z score was:

· -1  ______
· 2 ______
· 0 ______
· 1.5______
	Find your score if your z score was:

· -1  ______
· 2 ______
· 0 ______
· 1.5______


A tall couple passes you.  The man is 76 inches (6’ 4) and the female is 71 (5’ 11’’).  Who is taller relatively?  Find the zscore of each.

HW7:
1. The mean speed of vehicles along a stretch of highway is 56 mph with a standard deviation of 4 mph. You measure the speed of three cars traveling along this stretch of highways as 62 mph, 47 mph, and 56 mph. Find the z-score that corresponds to each speed.

2. A certain brand of automobile tire has a mean life span of 35,000 miles and a standard deviation of 2250 miles. If the life spans of three randomly selected tires are 34,000 miles, 37,000 miles, and 31,000 miles. Find the z-scores that correspond with each of these mileages.

3. A highly selective university will only admit students who place at least 2-zcores above the mean on the ACT that has a mean of 18 and a standard deviation of 6. What is the minimum score that an applicant must obtain to be admitted to the university?

4. The average for the statistics exam was 75 and the standard deviation was 8. Andrey was told by the instructor that she scored 1.5 standard deviations below the mean.

5. On a statistic test the class mean was 63 and the standard deviation was 7 and for the biology test the mean was 23 and has a standard deviation of 3.9. Find the Z score of each student .

a. A student received a 73 on the statistics test and a 26 on the biology test.

b. A student gets a 60 on the statistics tests and a 20 on the biology test. iii. 

c. A student gets a 78 on the statistics test and a 29 on the biology test. iv.

d.  A student gets a 63 on the statistics test and a 23 on the biology test.

Given a z-score or standard score, find the value:





	Value=z * standard devation + mean











